Bonding & Mole Practice

Name: KE\/

Block:

Part I: Draw the Lewis Dot Structure & Shape of each molecule below. (See notes for help).
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Part II: Determine the electronegativity difference (AEN) (use your blue periodic tables) between the

two atoms and predict the type of bond that will form (ionic, polar covalent, or nonpolar covalent).
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Part I1L: Solve each problem. Clearly show all your work. Round answers to the correct number of
significant figures and include appropriate units.
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17. How many[molecules of H ZOZare in 3.1 moles of H,0?
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18. How many!moles O‘f’Cngas at STP are in 10.5 liters of Cl, gas?
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19. How many}]itcrs of N()g} gas at STP are in 41.9 grams of NO, gas?
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20. How many!fonnula units of potassium oxianre in 2.0 moles of potassium oxide? (Hint: you must

first write the correct formula for this ionic compound)

L mdl K20 = 6.02 X 1022 frmylat vni+s ¥ 20

7.0 mol KzO}e”é’Ofo{}zg Formula wnirs K50 :m
i
|
l

;
§
%

Y ol Koo Lﬁﬁﬂmum uniks £2.0

LiBr
21. How mamWof lithium bromrde}are in 8.04 x 10* formula units of lithium bromide?
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22. How manyggrams of phosphorus pentoxidelare in 4.3 x 10™” molecules of phosphorus pentoxide?
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23. How manymolecules of boron tribromide fare in 27 grams of boron tribromide?
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How manv[noleculub of dinitrogen tetr oxldelwas at STP are in 5.0 liters of dinitrogen tetroxide gas?
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25. How manvgfo:muld units of calcium hvdromde[ale in 3.99 grams of calcium hydroxide?
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